
計算検定テスト問題（計算博士）

６年（ ）番 名前（ ）

1 14 27 40
３ １ １

１１×１１×１１ ４．９９×２６ × 0.8 × 0.75 ÷
４ ５ ６

2 15 28 41
６ ３ ２ ５

１５×１５×１５ ６．９２×８５ × 0.75÷ ÷
７ ４ １５ １６

3 16 29 42
１５ ４ ７ １４

（３＋５）×６÷２ ３．４６×２．６ × 0.9× ÷
１６ ９ １２ １５

4 17 30 43
１ ３ ７ ５

（４＋７）×８÷２ ４．７３×６．７ ３ × 0.25÷ ×
３ ８ ８ ６

5 18 31 44
１ ２ ３

９×９×３．１ ５．９２×２．５ ４ × 2÷ 3×
２ ３ ４

6 19 32 45
３ １ ５

０．０４×９ ３．７×２．６８ ÷ 5÷ 7÷
１０ ４ ２８

7 20 33 46
８ ４ ５ ２

０．９８×３ １８．４８÷６ ÷ 0.4＋ ー
１５ ９ ６ １５

8 21 34 47
１２ ９

１．７２×８ ４．７６÷７ ÷ 10:25=2:
２５ ２０

9 22 35 48
６ １０

９．０８×２ ６６．５７÷２１ ÷ 1.3:0.6= :2.4
７ ２１

10 23 36 49
２ １４ 5

６．９６×９ ２１．１７÷７３ １ ÷ : =20:3
５ １５ 3

11 24 37 50
６ ４ 1

０．０４×２４ ２．０３÷２９ 0.5× × : =25:6
７ ９ 5

12 25 38
１ １５

０．４６×３８ ４．４１÷０．０９ 0.375×１ ÷
９ １６

13 26 39
３ ５

０，９２×５６ １．０２÷０．７５ 0.45÷ ×
１６ ９


